.= _

o T s (0 Hay OF
w—eMé/g/

SR d//// D/»M( @M{m - _ﬂﬂ ’é/, 5

’ PmuemlllCheckthatthcretudedptnenuals f an osciilatin
*/ ) umfylhclmentz gauge condition. Domm;;nooscmmmg?p'aﬁc& f] 12and11.17) V74
F4
t
_ _ _/.6 | w
} 'f/ /4 '&2 for ./Wz G@«;\g d ¢
Putting Egs. 11.9 and 11.11 into Eqg. 11.5, we obtain the potentiai OI an osculatng S
— perfect dipole: 1 ¥
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f  Problem 11.5 Calculate the electric and magnetic fields

z
of an oscillating magnetic dipu
without using approximation 3. [Do they look familiar?
Poyntmg

Compare Prob. 9.33, T Find ¢
the intensity of the radiation ; is exactly the same as we got unf

- vector potential of an oscllhung perfect magneuc dlpole is

AQ, 8,1 = 20 (ﬂ) [ lcosﬁ] — = sinfw(¢ — r/r:)]} $. (1133
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Problem 11.6 Find the radiation resistance (Prob, 11.3) for the oscillating magnetic dipols

Fig. 11.8. Express your answer in terms of A and b, and compare the radiation msisum‘
the electric dipole. [Answer: 3 x 105 ®/r4 Q]
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